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[client] 9X
Aol = 12 byte

00 09 00 00 00 06 01 04 00 00 00 04
2- 30001 A 25 4Word Hlolg Q7

Transaction Identifier 00 09 2 byte
Protocol Identifier 00 00 2 byte
Length 00 06 2 byte
Unit Identifier 01 1byte
Function 04 1byte
Device Hi 00 1byte
Device Lo 00 1byte
DatalLenght Hi 00 1byte
DataLenght Lo 04 lbyte

[Server| &9

Ato]= 17 byte

gjolg 3t -> 10, 11

00 09 00 00 00 OB 01 04 08 00 00 41 20 00 00 41 30

Transaction Identifier 00 09 2 byte
Protocol Identifier 00 00 2 byte
Length 00 07 2 byte
Unit Identifier 01 1byte
Function 04 1lbyte
DataLenght 04 1byte
Data 30001 Hi 00 1byte
Data 30001 Lo 00 1byte
Data 30002 Hi 41 lbyte
Data 30002 Lo 20 lbyte
Data 30003 Hi 00 1lbyte
Data 30003 Lo 00 1lbyte
Data 30004 Hi 41 lbyte

Data 30004 Lo 30 1byte



